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1. Sokve ¥y ={3x+1 eyt {10%)

2. Solve the following ODE by “cociBcioms of wdelsymined™. (10%)

Y rdy'=2y=4x —6x+12

3. Fiud the inverse Laplace trancform of Fie}. (10%)
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4. Soive the following ODE by Laplacs tapsform. {30%)
YAy 2y =t p{h=1, pi0)=3

5. Given the continuous-time waveform in F ig.1, find irs Fourier trensform. (1096)

6. Random variabies X and ¥ have the joim PMF {Frobability Mass Function} {2096)
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52(&) What fs the value of the constans ¢ 7
Ei(b) Whatis PI¥<X]?
5Z(c) What is P{¥F=X]7
5’2({1)_ Whatis PiF=3]7

@y x=L%4:;y=13,
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7. Find the eigenvaiues and eigoavectors of the mairdy, (18943

f1

1
a=tg 9
R

PP — |

T
E
i
g

L

8. (2) I¥ A is 2 nonsinzuiac mareix, prove trat ATA Is positive defirite, (1076}
(o) If 2, v, and w zre Bnear independent vectors, show that o, w+v, and atviware
inear ind ent vestors. a
2lso linear independent veoters, (10%)
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